100

Solid timber blocking as
necessary. See notes drawing.

/ Timber joist

New timber joist built into
existing wall. End of
to be wrapped in bu
grade polythene

DETAIL A: NEW JOIST TO
WALL DETAIL

20mm dry pack installed
24 hours after casting

20mm dry pack installed
24 hours after casting
padstone

100

300x100x150 MC
padstone

New MS restraint strap at
1200 ctrs cast into padstone
and nailed to top of joist

20mm dry pack installed
24 hours after casting
padstone

300x100x150 MC
padstone

Void made good with

new brickwork 30 Wide x 5 Thick

galvanised mild steel
straps @ 1200 c/c

across beam screwed
into timber joists

Steel beam with
10mm end plate
sat on padstones

New floor beam

Joists sat on heavy
duty joist hangers
nailed to blocking and
joists

New MS restraint strap
at 1200 ctrs cast into
padstone and nailed to
top of joists and blocking

DETAIL

Solid timber blocking as
necessary

New timber joist built into
existing wall. See Detail A

B: RESTRAINT STRAPS

DETAIL C:

Solid blocking between
joists

Solid blocking between 100 7

joist and wall

RESTRAINT STRAPS DETAIL D:

/ MC padstone cast into

Refer to drawing 7851/001
for details of coating
specification to steelwork
embedded into walls

Timber blocking bolted
into web of steel
beams

DETAIL E:

TYPICAL JOIST

10 B

existing wall

EAM DETAIL

BEAM BEARING

PARALLEL TO JOISTS

PERPENDICULAR TO JOISTS

INTO EXISTING WALL

Delta than sealer around
fixing where it protrudes

Cavity

[ ]

Delta MS—500 Membrane
system

Wall ties (shown indicatively

padstone the MS—500 membrane to Architects
details
<
300 longx100 wide x 150 MC 203UC 254UC 254UC - . 4
padstons Finishes buld u 254u¢ 203uc ti HSA-R M16 expanding Ancon Optima 10 Bracket
New MS restraint strap ot i P i 95 © 500c/c 2 support system
ow MS restroint strap o to Architects drawings | _ _ dnlled into RC Wall to 4
1200 c/c cast into padstone Stone landing by i G i o Q Manufacturers details
and screwed to concrete B B 2
Others 3
I | OH =
\\ s N - ° SB Bonding emulsion mixed .
s 3 in 1 ratio with water 44 4 Blockwork to suit
\\\\\\\\\\\\ s/ f 4 in 1 sand cement mix Architects drawings
§ 7/ = s— 10mm end plote welded  spread over MS—500 to infill <
N v p 350
N 3 100x50x8RSA welded to PFC o/w 2No. M16 dimples to avoid crushing of
\\\\\\ N 1 10mm end plate c/w ta by 2N .
\ 4No. M16 bolts at 10mm fin plate c/w o beam c/w 2No, bolts ot SOmm c/c membrane
\ 100x65x10 RSA welded 90mm o/c 3No. M16 bolts ot M12 bolts at 80c/c a9, Level to soffit of brickwork
\ to SHS with 4no. 12mm 90mm ¢/c and bracket to suit Archited|
[S— . . . 500 3 ;
RG slob cost on & x75mmx1 75mm long plates. DETAIL F: 203UC DETAIL G: 254UC DETAIL H: 125PFC - and walsrpraofing detoils
atal deck Plates positioned to suit 2
fanding support deteils to 254UC to 254UC to 203UC A
125x75x10RSA welded 125x75x10RSA welded 200x120x10 RHS —_— —_— — 4 .
to PFC to SHS
[ — Incoming tie beam < RC Wall
xoox mmOHiOZ 4 — 4 with ua\la, end 15mm cop plate welded %
plate c/w 4No. to columme
- 50 Bie sate BRICK SUPPORT BRACKET
y '3}
45 3x70 __90__ 3 x 70 45 45 2 x 70 _90_2 x 70 45 ® E
[ [ [ [ ] [ ] oa e & 1:10
o o a —— i i  ; | i i | —— i i 1 n 7‘
i - 5 B = -
I le ole o — L UC welded to baseplate S
oflr T ® 1 ° 2 mﬁ | M16 resin anchors using Bmm FW's L = |
= = 79 | = T L1l -e e e e /
—Te L] e e W T
j L
I 1} I ® (] 15mm end plates
; i —— i \ welded to beams
\ 480x200x10 flange plates c/w 6No. M16 bolts
330x140x10 web plat
600x255x15 flange plates uuoﬂd%o web %,zoam m\a Aomﬁzwo%;\ozmﬂo A@aoﬂ mm@v os\mz v
olts c . _ L
c/w 18No. M16 HSFG mmom Im,ﬂ%cwmw - M16 HSFG bolts 400x400x15 baseplate

bolts at 185 ¢/c

DETAIL J: 254UC

SPLICE

DETAIL

Dry pack mortar rammed in
good and solid

New floor beam

DETAIL K: 203UC SPLICE
DETAIL

New MS restraint strap at
1200 ¢/c cast into padstone
and screwed to concrete

S S //

DETAIL L: 203UC BASEPLATE

DETAIL M: 254UC’s TO COLUMN

Line of wall

20mm dry pack installed (beyond)

24 hours after casting
padstone

\

300x100x150 M
padstone

150dp PC lintels built into

\

New timber floor

203x203x46UC \

New timber floor

Dimension ta
Architects details

DETAIL N

[

deck

/ New timber blocking

at strap location

at each end.

Line of wall ——— —

(beyond)

Finishes build up
to Architects drawings
Stone landing by
Others
|

r

on mass concrete

solid brick and sat on \
beam flange N Chimney breast removed
below
'~ SECTION 2-2
18mm plywood Refer to Services Engineers
to be screwed drawings for details of tanks
down into new and services
timber joists
& PFC
New 125x65 PFC
New tank New tank Spaced 15mm above
a top of existing trusses,
8 o| to ensure no additional
Extg. truss A A o 3 load onto extg. trusses
= o si
7 7 T 7 7 =/ | padstone at each end
, T =R R AT ",
+ j— *\ \ JE— i
[

New 125x65 PFC
Spaced 15mm_ above

top of existing trusses, Jimper noggins

|
/ Extg. truss B

New main 125 Deep x 50 wide
timber joists at 300 max. c/c
spanning onto new PFC's

7 !
/@/ 230x80 PFC

&
Seal tightly between
steel and masonry

203x203x52UC

with timber noggins tightly
wedged between plus 18mm
WBP plywood on top to

provide” platform.

to ensure no additional to Do tiahty

load onto extg. trusses ain timber

PFC to sit on mass concrete oists

padstone at each end J

15mm Gap between top of

extg. joists & bottom of —

new timber joists WWOHiOZ X X
1:20

2no. 230x90 PFC’S
BACK TO BACK

landing with engineering
brick and epoxy
high strength grout

SECTION 3—3

A193 Mesh in top face

RC slab cast on
Comflor 51 metal

203x203x46UC"s
Lintels over new opening
supported on 200x90 PFC's

/

WALL

__—

200x90 PFC’s fixed

V

v ly to wall us
Hilti HIT—HY70 resin
at 1200.

SECTION P—P

Stone stairs by
Others

Finishes build up /

to Architects drawings
RC slab cast on

metal deck

C—_— — — 4
———— <
203x203x46UC 1562x152x30UC
+2no. 125x75x10RSA +125x75x10RSA
+100x75x10RSA

SECTION 4—-4

hes to Architects

bottom to steel beams and

~

& SOFFIT QF SLAB

\

ANCON FHR HEAD
RESTRAINTS @ 900¢/c
FIXED WITH M8 RESIN
ANCHORS

BRICK /BLOCK WALL. \

top and

YPICAL BLOCKWALL
HEAD RESTRAINT
DETAIL

1:10

ing M16
anchors

NOTES:

1. Al structural engineering drawings are to be read with the
specification and with all relevant Architect’s and Service
Engineer’s drawings and specifications.

Do not scale from this drawing in either paper or digital
form. Use written dimensions only. To check drawing has

been printed to intended scale this bar should be 50mm long
@ A1 or 25mm long @ A3:

e ey

Al dimensions are in millimetres and levels in metres.

4. Refer to drawing 7851/001 for further notes.

G ??.05.15 DS Detail P—P revised
Issued for Construction
F ]12.05.15 DS Details added
Issued for Construction
E 06.02.15 DJP Section X=X added
Re—lssued for Construction
D 01.12.14 DJP Issued for Construction
Following further information from Architect
C 12.11.14 DS Issued for construction
B 07.11.14 DS Issued for construction approval
A 24.04.14 ™ Issued for tender.
— 11.10.13 B Issued for comment / coardination.
Rev Date Issued | Amendment
Status

CONSTRUCTION

JOHNSTON

Consulting

ivil & Structural Engineers

93 Great Suffalk Street
London SE1 OBX

T 020 7593 1800

F: 020 7593 1810
www.sinclairjohnston.co.uk

41—-42 CHESTER TERRACE,
NW 1

SECTIONS & DETAILS
PROPOSED

Drawn T Musson Scale 1:10 ot A1

Rev

G

Project No./Drawing No.

7851/030






